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ab—b—a+ 12 HFEA Q1FEaleh 227

D @-b)p+1) @ @+h)b-1 Ga-1p-1)
@ (a+1)(b-1) ® (a-1)(b+1)

‘ ab-b-a+1=bla-1)-(a-1) =(a-1)(b-1)




3. xX2-94xy-3y & JAFEd5tA?

@ (x+3)(x+3+y) @ (x+3)(x+3-y)
® (x=3)(x=3-y) @) (x-3)(x+3+)
® (x+3)(x=3+y)

‘ (x+3)(x=3)+y(x-3) =(x-3)(x+3+y)




4. T35 F 2% -y?-2x+2y 9 A0 ALY

® x-2 @ x+y @x—y

@ x+y+2 ® x-y+2

(x+y)(x=y)—2(x-y)=(x+y-2)(x-y)




5. o2 Fa2-ab-bc+ac? A5E?

® b+c @ a-c ® a+b @a—b ® b-c

ala—b)+cla—b) = (a-b)(a+c)




=% a’—a*—a+19 157 obd A2 B5F F 7fR1A] FLSHH?

@ a?+1 © a?-1 © a+1
® a-1 @ a+1

D14 @24 @3AH @44 6 @

B *
ad-a*-a+1=a*a-1)-
@ -Da-1)
=(a-1)*(a+1)
O2tA a3 —a? —a+19 159 A2 ©, ©, @°lEE I57}
ofd A2 F2 27o[ct.




7. A xy+bx—ay—ab< A5E5HH?

D (x-a)y-b) @E-ab+b) O (x+a)y-b)
@ (x+a)(y+b) ® (x-b)(y-a)




8. o2 Aax-—ay-bx+bys JFE5HH?

@) (x-y)(a-b) @ (x-y)(a+b)
® (x+y)(a-b) @ (x+y)(a+b)
® —(x-y)(a+b)

(EA)=a(x-y) =b(x-y) = (x=y)(a—b)




9. BWAAAGC] Holrk v + 4x—y? - dy 0|, WIe] Lo|7bx—y
w, o] WAAAG ] ol 2 Fotu?

®© x+y-4 @ x-2y+4 @ x+2y+2

@x+y+4 ® x+4y+2

-y +4(x-y) =(x+y)(x-y) +4(x-y)
=(x+y+4)(x-y)




10, x(x+1)(x+2)(x+3)+1 = 1423l sh= 2Adolet. () gtoll S0
Alo] 4] 92 A0

x(x+1D)x+2)(x+3)+1
=x(@O)x (x+1)(@)+1
=(x*+3x)(®) +1

(@) =Ag}sHH

A2 42A4+1=(A+1)2=(®)?

@ x+3 @ x+2 ® x24+3x+2
@x2+3 ® x2+3x+1

@ x2 + 3x




11, 2 +3x=5 <L ™, x(x + 1)(x+ 2)(x + 3) - 3 &] 27

@® 21 @32 ® 60 @ 96 ® 140

(x24+3x)(x2 +3x+2)-3=5(5+2)-3=32




)
x+3)(x-3)(x+2)(x-2)
)

(x—-2)(x% + 3)

(x* —4)(x®* —1) — 40 = x* - 5x% — 36
— (2 -9)(x+4)
= (x+3)(x—3)(x* +4)




13.

(x=1D)(x-2)(x+1)(x+2) - 10 A5E3sHA?

O (2-1)(x2=6) @) (2 +1)(x*-6)
® (x>-1)(x*>+6) @ (2+1)(x2+6

® (x?-1)(x*-5)

(2—1)(2-4)-10 = x* —5x2 +4-10
=x*-5x>-6
= (x2+1)(x*>-6)




14. o 52t -19 257k obd 222

D -1 @ x+1 ® 241

@Xz—]. @x2+_x_]_




15, x* - 10x* +9 9] A=7F opd 227

D x-1 @ x+3 ® x2-1
@x+9 ® x*-10x2+9

(x> -1)(x2=9) = (x + 1)(x = 1)(x + 3)(x = 3)




16. x%—5x2 +49] Ql5=7} opd AL

® x-1 @ x+2 @ x+1 @ x-2 @x—4




17.

o2 x* - 81yt & QAE5) gF Ao}, o] w D Qtof gure
ZtA4=2] & FotHA?

w81yt = (2 + [P+ -y
O 13 @ 15 ® 18 @ 20 ® 24

xt =81yt = (2® + 9%)(x* - 9?)
= (x* 4+ 9y?)(x + 3y)(x - 3y)
~9+3+3=15




18. oFg kAol AR WA @, Ol o148 BAL B7IoA
3o} el 2 AR A2

r+2xy+1y’—1
gl
=(x+y+1)(z+ y—l)j

)
W) a® - b* = (a+b)(a-b)

) x2 + (a+b)x +ab = (x+a)(x+b)

2}) acx? + (ad + be)x + bd = (ax + b)(cx + d)

@b, (+h @ (Wb, Oh ® (h, (h
@ (), (°h ® (7. (=

2 F2xy+y?-1
=(x+y)?-1 - da®>+2ab+b*>=(a+b)? ol &
=(@+y+)(+y-1) - (@®-b*) = (a+b)(a-D)




19. 2 =20y -1+ & AR afeta?

@(x—y—l-l)(x—y—l) @ (x+y+1)(x+y_1>
@ (x-—y+1)(x+y-1) @ (x—y-1D(x+y-1)

® (x+y+1)(x-—y-1)
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@x—y—? @ x-y-4
@ x-y+4 ® x+y+2

¥ +y?—4-2xy = (x-y)?-2?
=(x-y+2)(x-y-2)




21. 249+ 1dy—)? 0] x ©] A%7} 1 Q1 5 AA40] Fo = Q14-Ralg

= (- 14y +49) =7 - (y-17)°
=@x+y-T(x-y+7)
S(xty-T+(x-y+7) =2x
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23.

TFFA] x? — dxy + 3y? — Tx + 5y — 8 = Ql2aliolH?

@ (x+3y-8)(x+y+1)
® (x+3y-8)(x—y-1)
@ x-3y-8)(x-y+1)

@ (x=3y+8)(x+y+1)

@ (x=3y+2)(x-y+4)

-4y +T)x+3y?+5y-8

=(x-3y-8)(x—y+1)

=x>—(4y+Tx+ By +8)(y—-1)




24. x® +5xy+2x—-5y—3 = AFE3|5H?

@ (x+1)(x+5y+3) @ (x-1)(x—5y+3)
® (x-1)(x+5y-3) @(x—l)(x+5y~l—3)
® (x+1)(x=5y-3)

x? 4+ 5xy+2x—5y—3
= x% + (5y + 2)x — (5y + 3)
=(x+5y+3)(x-1)




25. 2=y —xtby-6=Alx+y-3) . A P

O x+y+2 @ 3x-y+2 @ x-y+4
@X—)’+2 ® x-3y+2

B

2 —y?—x+5y-6
=x%—x—(y* ~ 5y +6)
=x*-x-(y-3)(y-2)
{x+ -3} {x- (-2}
=(x+y-3)(x-y+2)
LJA=x—-y+2




26. X*-y*+6x-2y+8 = UAFEMSIH (ax+by+c)(x+y+4) & o,
a+b+c o g Tt

x2 -y 4+6x-2y+38
=2+ 6x— (2 + 2y - 8)
=x>+6x-(y+4)(y-2)
={x-0-2)Hx+(+4)}
=(x-y+2)(x+y+4)
~a=1,b=-1,c=2
“a+b+c=2




27. x> -9y? —2x+ 18y — 82 QALH3||51H?

@O (x=3y+2)(x+3y+4) (@)(x—3y+2)(x+3y—4)
® (x+3y+2)(x+3y-4) @ (x-5y+2)(x+3y-4)

® (x=3y+4)(x+3y-2)

B

x2—-9y? —2x + 18y -8
=x2-2x-9y? + 18y -8
=x?—2x—(9y* - 18y + 8)
=x?-2x—(3y-2)(3y—4)
={x-(y-2)} {x+ (By-4)}
=(x=-3y+2)(x+3y-4)




28. the Al ASRaTHA?

2 —y? 4+ 8x+4y+12

O (x+y+3)(x—-y+4) @ (x+y+4)(x-y+3)
@ (x+y+2)(x+y+6) @ (x+y-2)(x-y-6)
@ +y+2(x-y+6)

22+ 8x—(y? —4y-12)
=x2+8x—(y+2)(y-6)
=(x+y+2)(x—y+6)




29. x®—4xy+3y?*—6x+2y-16 = AFE SFAAY (x+ay+b)(x+cy+d)
ZFEIQSE ol W, a+ b+ c+d O] 27

@-0 @9 -8 @-3 O3

D )
x o tisto] A 2stH,

X% — (4y+6)x +3y*> + 2y - 16
- (4y+6)x+(3y+8)(y-2)
=(x-3y-8)(x-y+2)
ca=-3,b=-8, c=-1,d=2
T —=3-8-14+2=-10




30.

O|ZFA] x2 — Bxy + 2y + 4x — 5y + 3 & AR FFATY (ax -y +
b)(x+cy—d) 7t FATk ©He F 2L AL TEW?
®a+b=3 @ b+c=2 @ c+d=1

@a+c:—1 ® b+d=-3

B

x4+ (4-3y)x+2y*-5y+3
=2+ (4-3)x+ (2y-3)(y-1)
=(x-2y+3)(x-y+1)
ca=1,b=1¢c=-2,d=-3




(FA) =(x-3+y+3)(x-3-y-3)
=(x+y)(x-y-6)
X+ y+x—-y-6=2x—-6




. x—xy? -y 4y o ATt opd A2?

@ y+1 @ y-1 @x+y @ x-y
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@ x*+1 © x-1 © a+1
® x-2 @ a-1
® 9,0, 0 @ O, 3)O,®, ®
@ @0 ® ©, 6,06

a?x-a?-x+1=a*(x-1)-(x-1)
=(a+1)(a-1)(x-1)
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x+2)(x+4)(x+6)+16 = A2l Sh= Tgoltt. () Sl
|

=
=

x(x+2)(x+4)(x+6) + 16
=x(®) x (x +2)(@) + 16

= (x +6x)(®) + 16

(@) =A st

A2 +8A +16 = (A+4)* = (©)?

DO x+5 @ x+3
@x2+6x ® x2+6x+1

® x?4+4x+38

z

B

D x+6
@ x+4
® x> +6x+38
® x%> +6x+4




35. (x+2)% - (2x-3)?= 25| 5t —(ax + b)(x + ¢) I}, o] o,
a+b+col e oY (B, ae FF)

@ -5 @ -1 @—3 @ -10 ® -12

B

x+2=A4, 2x-3=BZ g5}
(x+2)% — (2x - 3)?

:A2_B2

— (A+B)(A-B)
:(x+2—|—2x—3)(x+2—2x+3)
=Bx—-1)(-x+5)
=—-Bx-1)(x-5)
Latbte=3+(1)+(5=-3




36. (2x+1)*-(x-2) = Bx+a)(x+b) 2 o, a+3b°] gk Fo}H?

® 4 @ 6 @1  @s ® 9

B ,

2x+1=A4, x—2=B= X3}4A
(2x+1)% = (x - 2)?
=A?2-B>=(A+B)(A-B)
=2x+14+x-2)(2x+1-x+2)
— (3x—1)(x+3)
La=-1,b=3
La+3b=-1+9=8




37. (x+43y)? - 4y? S QHI|5HH?

D (x-5y)(x-y) @ (x+2y)(x-2y)
® (x-5y)(x+y) @ (x+3y)(x+2y)
@) (x+59)(x +9)

(x+3y)% -4 = (x+ 3y)* - (2)?°|2=
x+3y=A, 2y =Bz olH
A?-B>=(A+B)(A-B)

= (x+ 3y + 2y)(x+ 3y —2y)

= (x+5y)(x +)
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(3x-2)* = (2x+3)° = (Ax+ 1) (x+ B) & W, A+ B 9] & 73}
ot

> E

> Het A+B=0

B

3x—2=X, 2x+3=YZ 23IH
(3x - 2)2 - (2x+ 3)2
=X2-Y? = (X+Y)(X-Y)

= (5x+1)(x-5)

. A=5 B=-5

s A+ B=0o]Jt}




